E XA R B

SHICAMEAR (RES)) SRR

3
=
\]
£
%
Aint
S

\ \ fE ES b [#]
E WABE | FEE

B ES)
711
i fiE ) 0.34 |25k OB A A 749 H 30 H
7 0 6 %15
T A i 93.20 |BHFEFEH OB A ST 11 A28 H
711

PN & ) 0. 34 i W ST 30 H




TERE TR E

BRTHEE FRAHIXK S (ifEsh) s AT
X i85 %
. m OB | A | FK (#
R A NE B Ca) |(F 4| #85 (8 =
il RE 711 V) 0.34 0.34 0.20 | #& M [ 1 | mE&hAN  AF  arFi
HEHEE 1 f&pr 0.34 0.34 0.20
&t 1 & 0.34 0.34 0.20




TEXE TR E

TRTHEE FRAHIXIE (i) A3

X 5

TH S

FRm| oA om | m A s | e | 1%
A 706 7= 0.12 0.12 | /& H |2 A 23
A 706 1L 1.65 1.65 | # H | 2| Rids 23
A 706 7 0.30 0.30 | /& H [ 2] A X
T M 711 1% 0.13 0.13 | # M | 4| meethy =%
M 7119 0.34 0.34 | # M | 4| meethy =¥
& W& 5 AT 2.54 2.54

T A 753 5 1.77 1.65 | K 7 2| RiAth 2
T A 753 % 1 1.49 140 | K /7 2| RiAth X
T 753 5 1.36 127 | K 7 | 2| RiAth X
T A 753 1} 1.83 L71| K 7 2| RiAth X
T A 752 4 3 5.14 4.66 | K F 2] FiAd X
T 752 e 4.69 4.61 ) KR A [ 4] Fii X
AFE 6 &P 16.28 15.30

A 605 7H» 3.07 3.04 [ JIL N | 2| by =¥
A 631 A 7 0.82 0.82 [ JII N | 3| febkin =¥
A 631 A 8 0.61 0.61 [ JII N | 3| febkin =¥
A 631 %> 9 0.19 0.19 [ JIL N | 3| ebkin =¥
A 631 A 10 0.70 0.70 [ JII N | 3| febkin =¥
JIINE 5 f&PT 5.39 5.36

=518 16  f&pT 24.21 23.20




(EEBHTARE

TRTHEE FRAHIXIE (i) A3

. O | A (BRI FAR |
fERE| HAENE R Cha) |F R|1ES ()| 5555 1] B
SO 711 0 0.34 0.34 0.20 9.1 & M |4 | @meemkn =%
HEHEE 1 f&pT 0.34 0.34 0.20 9.1
il 1 0.34 0.34 0.20 9.10
it 1 &7 0.34 0.34 0.20 9.10




